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QUESTION 1

User A designs a document and exports it to a public folder on the business intelligence platform.
User B moves the document to a different folder.

User C schedules the document. User D opens the latest instance of the document.

At this point, who is the owner of the instance?

A. User D

B. User A

C.UserC

D. User B

Correct Answer: C

QUESTION 2

On a production system landscape, you need to perform maintenance on a host that is currently running scheduled
jobs.

What action should you perform on the Adaptive Job Server before shutting down the host?
A. Disable

B. Force Termination

C. Restart

D. Enable

Correct Answer: A

QUESTION 3

What are the advantages of scaling a BI platform both vertically and horizontally?
Note: There are 3 correct answers to this question.

Response:

A. Decreases /O bottlenecks

B. Increases schedule reporting capacity

C. Increases overall system capacity
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D. Adds failover and load balancing
E. Increases Java heap memory utilization

Correct Answer: BCD

QUESTION 4

Which of the following object types can you use to create an information space in SAP BusinessObjects Explorer?
A TXT

B. .UNX

C. XML

D. .BIAR

Correct Answer: B

QUESTION 5

Which server processes dynamic recipient lists for publications?
A. Crystal Reports Processing Server

B. Report Application Server

C. Output File Repository Server

D. Adaptive Processing Server

Correct Answer: B
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